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English VVersion :
(Use a separate Answer book for each group)

Group—A
Answer any two questions of the following:
a)  What, according to Plato, is proper knowledge?

b)  Discuss, after Aristotle, any two arguments (other than 'Third Man' argument) against
Plato's theory of idea or form.

c)  'True belief is not knowledge' — Explain after Plato.

d) 'God exists as the Final Designer of everything of this world.— Explain after Aquinas.
Answer any one question of the following:

a) i)  Explain Aristotle's view on cause.

i)  On what grounds modern science differs from Aristotle's view of causality.

b) i) Show how Plato has used the analogy of 'The cave' to distinguish between
knowledge and belief.

i)  Explain any two arguments in favour of Plato's theory of Idea.
iii)  Explain Aristotle’'s 'Third Man' argument.
Answer any two questions of the following:
a) 'l think, therefore, | am.'— Is this a syllogism? Explain.
b)  Explain, after Spinoza, the relation between substances and attribute.
c) Is Descartes' sceptic? Discuss Descartes philosophical method to answer this question.
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d)  Explain, after Leibniz, the characteristics of monad.
Answer any one question of the following:
a)  Critically explain, after Descartes, different proofs for the existence of God.
b) 1) Explain, after Leibniz, the doctrine of monad.
i) Discuss, in this context, the theory of pre- established harmony.

Group — B

Answer any two questions of the following:

a)  What is meant by existential import of categorical proposition? Explain briefly.
b)  What is the relation between truth and validity?
c) What are the differences between the traditional and Boolean interpretation of
categorical propositions?
d) i)  What is meant by distribution of terms?
ii)  Convert and obvert the following:
only men are selfish.
Answer any one question of the following:
A) i)  Explain with illustrations the distinction between pure hypothetical syllogism and

mixed hypothetical syllogism. When is a mixed hypothetical syllogism invalid?
Give examples.
ii)  Show the form of a complete constructive dilemma.
B) a) Testthe validity by means of Venn diagram (any Three):
i)  EI0—2"'Fig
i) All poets are philosophers, because only poets are imaginative and all
philosophers are imaginative.
iii)  No one present is out of work. No members are absent. Therefore, all members
are employed.
iv)  some children are not considerate, since all children are egoists and no egoists
are considerate.
b) Give the Boolean notation of the following and represent them by Venn Diagram:
i) Thereis no one who is intelligent but idle.
i) There are white elephants.

Answer any two questions of the following:

a)  What is the difference between argument by analogy and induction by simple
enumeration.

b)  Distinguish between necessary and sufficient conditions with examples .

c) What is adhoc hypothesis?

d) Distinguish between scientific and unscientific explanations.

Answer any one question of the following:

A) Explain and examine the method of concomitant variations.
B) a) whatisthe apriori theory of probability?
b)  Compute the probability of the following (any Three) :

i)  What is the probability of getting four heads in four tosses of a coin?

i) Adoctor's chamber has five doors. Four patients came to the chamber at the
same time. What is the probability that all four of them will enter into the
chamber by the same door?

iii)  If three cards are drawn from a pack of cards what is the probability that all of
them will be spades if the cards drawn are not replaced?

iv)  Anurn contains 9 white balls and 6 black balls. It two balls are drawn from the
urn what is the probability that they will be of the same colour if (a) the balls
are replaced? , (b) if not replaced?
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